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The ice melted on a Norwegian mountain during a particularly warm |
summer in 2019, revealing a 1,700-year-old sandal to a mountaineer
looking for artifacts. The sandal would normally have degraded quickly,
but it was instead well preserved for centuries by the surrounding ice.
According to archaeologist Espen Finstad and his team, the sandal, like
those worn by imperial Romans, wouldn’t have offered any protection from
the cold in the mountains, so some kind of insulation, like fabric or animal
skin, would have needed to be worn on the feet with the sandal,

What does the text indicate about the discovery of the sandal?

A) The discovery revealed that the Roman Empire had more influence on
Norway than archaeologists previously assumed.

B) The sandal would have degraded if it hadn’t been removed from the ice.

C) Temperatures contributed to both protecting and revealing the sandal.

D) Archaeologists would have found the sandal eventually without help
from the general public.

The foilowing text is adapted from Marfa Cristina Mena’s 1914 short story
“The Vine-Leaf”

It is a saying in the capital of Mexico that Dr. Malsufrido carries more
family secrets under his hat than any archbishop.

The doctor’s hat is, appropriately enough, uncommonly capacious,
rising very high, and sinking so low that it seems to be supported by his
ears and eyebrows, and it has a furry look, as if it had been brushed the
wrong way, which is perhaps what happens to it if it is ever brushed at
all. When the doctor takes it off, the family secrets do not fly out like a
flock of parrots, but remain nicely bottled up beneath a dome of old
and highly polished ivory.

Based on the text, how do people in the capital of Mexico most likely
regard Dr. Malsufrido?

A) Few feel concerned that he will divulge their confidences. _
B) Many have come to tolerate him despite his disheveled appearance:

C) Most would be unimpressed by him were it not for his professional
expertise. .

D) Some dislike how freely he discusses his own family.
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NASA’s Cassini probe has detected an unusual wobble in the rotation of
Mimas, Saturn’s smallest moon. Using a computer model to study Mimas’s
gravitational interactions with Saturn and tidal forces, geophysicist Alyssa
Rhoden and colleagues have proposed that this wobble could be due to a
liquid ocean moving beneath the moon’s icy surface. The researchers
believe other moons should be examined to see if they too might have
oceans hidden beneath their surfaces.

Which choice best states the main idea of the text?

A) Rhoden and colleagues were the first to confirm that several of Saturn’s
moons contain-hidden oceans.

B) Research has failed to identify signs that there is an ocean hidden
beneath the surface of Mimas.

C) Rhoden and colleagues created a new computer model that identifies
moons with hidden oceans without needing to analyze the moons’
rotation.

D) Research has revealed that an oddity in the rotation of Mimas could be
explained by an ocean hidden beneath its surface.
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Hip-hop pedagogy is a form of teaching that’s gaining popularity across
school subjects. It involves incorporating hip-hop and rap music into
lessons as well as using hip-hop elements when teaching other subject
matters. For example, Quan Neloms’s students look for college-level
vocabulary and historical events in rap songs. Researchers claim that in
addition to developing students’ social justice awareness, hip-hop

pedagogy encourages student success by raising students’ interest

and engagement.
Which finding, if true, would most strongly support the underlined claim?

A) Students tend to be more enthusiastic about rap music than they are
about hip-hop music. . '

B) Educators report that they enjoy teaching courses that involve hip-hop
and rap music more than teaching courses that don't.

C) Courses that incorporate hip-hop and rap music are among the courses
with the highest enrollment and attendance rates.

D) Students who are highly interested in social justice issues typically dor't
sign up for courses that incorporate hip-hop and rap music.
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Pulitzer Prize~winning writer Héctor Tobar has built a multifaceted career
as both a journalist and an author of short stories and novels. In an essay
about Tobar’s work, a student claims that Tobar blends his areas of

expertise by applying journalism techniques to his creation of works
of fiction.

Which quotation from a literary critic best supports the student’s claim? _

A) “For one novel, an imagined account of a real person's global travels,
Tobar approached his subject like a reporter, interviewing people the
man had met along the way and researching the man’s own writings.”

B) “Tobar got his start as a volunteer for E] Tecolote, a community .
newspaper in San Francisco, and wrote for newspapers for years before
earning a degree in creative writing and starting to publish works
of fiction?” '

C) “Many of Tobar’s notable nonfiction articles are marked by the writer’s
use of techniques usually associated with fictio » such as complex
narrative structures and the incorporation of symbolism.”

D) “The protagonist of Tobar’s third novel is a man who wants to be a
novelist and keeps notes about interesting people he encounters so he
can use them when developing characters for his stories”

Electra is a circa 420-410 BCE play by Sophocles, translated in 1870 by
R.C. Jebb. Electra, who is in mourning for her dead father and her '
long-absent brother, is aware of the intensity of her grief but believes it

to be justified:
Which quotation from Electra most effectively illustrates the claim?

A) “O thou pure sunlight, and thou air, earth’s canopy, how often have ye
heard the strains of my lament, the wild blows dealt against this
bleeding breast, when dark night fails!”

B) “I'know my own passion, it escapes me not; but, seeing that the causes
are so dire, will never curb these frenzied plaints, while life is in me”

C) “Send to me my brother; for I have no more the strength to bear up
alone against the load of grief that weighs me down”

D) “But never will I cease from dirge and sore lament, while I look on the
trembling rays of the bright stars, or on this light of day”
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Tadpole Body Mass and Toxin Production after Three Weeks in Ponds

Average
Average " | bufadienolide
number Average | concentration
Average of distinct amountof | (nanograms

tadpole | bufadienolide | bufadienolide | per milligram
Population [ bodymass | toxinsper | pertadpole | oftadpole
density | (milligrams) tadpole (nanograms) | body mass)

ngh 193.87 22.69 5,815.51 374.22
Medium - 254,56 21.65 5,525.72 230.10
Low 258.97 22.08 4,664.99 171.43

Ecologist Veronika Békony and colleagues investigated within-species
competition among common toads (Bufo bufo), a species that secretes
various unpleasant-tasting toxins called bufadienolides in response to
threats. The researchers tested B. bufo tadpoles’ responses to different levels
of competition by creating ponds with different tadpole population
densities but a fixed amount of food. Based on-analysis of the tadpoles after
three weeks, the researchers concluded that increased competition drove
bufadienolide production at the expense of growth.

Which choice uses data from the table to most effectively support the
researchers’ conclusion?

A) The difference in average tadpole body mass was small between the low
and medium population density conditions and substantially larger
between the low and high population density conditions.

B) Tadpoles in the low and medium population density conditions had
substantially lower average bufadienolide concentrations but had
greater average body masses than those in the high population density
condition.

C) Tadpoles in the high population density condition displayed a relatively
modest increase in the average amount of bufadienolide but roughly
double the average bufadienolide concentration compared to those in
the Jow population density condition.

D) Tadpoles produced approximately the same number of different
bufadienolide toxins per individual across the population density
conditions, but average tadpole body mass decreased as population
density increased.
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Urban Population of '
Algeria, France, Japan, and Nigeria
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The share of the world’s population living in cities has increased
dramatically since 1970, but this change has not been uniform. France and -
Japan, for example, were already heavily urbanized in 1970, with 70% or
more of the population living in cities. The main contributors to the world’s
urbanization since 1970 have been countries like Algeria, whose

population went from

Which choice most effectively uses data from the graph to complete the
assertion?

A) less than 40% urban in 1970 to around 90% urban in 2020,
B) less than 20% urban in 1970 to more than 50% urban in 2020,
C) around 40% urban in 1970 to more than 70% urban in 2020.
D) around 50% urban in 1970 to around 90% urban in 2020.
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Area of Three Glaciers in the
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To monitor changes to glaciers in Switzerland, the government periodically
measures them for features like total area of ice and mean ice thickness,
which are then reported in the Swiss Glacier Inventory. These
measurements can be used to compare the glaciers, For example, the
Gorner glacier had

Which choice most effectively uses data from the graph to complete the

example?

A) alarger area than either the Fiescher glacier or the Unteraar glacier.

B) asmaller area than the Fiescher glacier but a larger area than the
Unteraar glacier.

C) a smaller area than either the Fiescher glacier or the Unteraar glacier.

D) alarger area than the Fiescher glacier but a smaller area than the
Unteraar glacier.

Henry Ossawa Tanner’s 1893 painting The Banjo Lesson, which depicts an
elderly man teaching a boy to play the banjo, is regarded as a landmark in the
history of works by Black artists in the United States. Scholars should be
cautious when ascribing political or ideological values to the painting,
however: beliefs and assumptions that are commonly held now may have
been unfamiliar to Tanner and his contemporaries, and vice versa. Scholars
who forget this fact when discussing The Banjo Lesson therefore

Which choice most logically completes the text?

A) risk judging Tanner’s painting by standards that may not be historically
appropriate,

B) tend to conflate Tanner’s political views with those of his contemporaries,

C) wrongly assume that Tanner’s painting was intended as a critique of his
fellow artists.

D) forgo analyzing Tanner’s painting in favor of analyzing his political
activity.
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In many cultures, a handshake can create trust between people. Engineer
Jodo Avelino and his team are designing a robot to shake hands with a
human in order to improve human-robot interactions. The robot hand
adjusts its movements and pressure to better imitate the feel of a human
hand. The researchers want the robot’s handshake to feel realistic

because

Which choice most logically completes the text?
A) people are less likely to interact with robots that don't look like humans,

B) it’s easier to program a robot to perform handshakes than it is to
program a robot to perform some other types of greetings.

C) the robot in the researchers’ study may have uses other than interacting
with humans,

D) lifelike handshakes may make people more comfortable interacting
with robots.

_

Tides can deposit large quantities of dead vegetation within a salt marsh,
smothering healthy plants and leaving a salt panne—a depression devoid of
plants that tends to trap standing water—in the marsh's interior. Ecologist
Kathryn Beheshti and colleagues found that burrowing crabs living within
these pannes improve drainage by loosening the soil, leading the pannes to
shrink as marsh plants move back in. At salt marsh edges, however, crab-
induced soil loosening can promote marsh loss by accelerating erosion,
suggesting that the burrowing action of crabs

Which choice most logically completes the text?

A) can be beneficial to marshes with small pannes but can be harmfal to
marshes with large pannes.

B) may promote increases in marsh plants or decreases in marsh plants,
depending on the crabs’ location.

C) tends to be more heavily concentrated in areas of marsh interiors with
standing water than at marsh edges.

D) varies in intensity depending on the size of the panne relative to the size
of the surrounding marsh.
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Biologist Jane Edgeloe and colleagues have located what is believed to be
the largest individual plant in the world in the Shark Bay area of Australia,
The plant is a type of seagrass called Posidonia australis, and it
approximately 200 square kilometers.

Which choice completes the text with the most logical and precise word
or phrase?

A) acknowledges

B) produces

C) spans

D) advances

Osage Nation citizen Randy Tinker-Smith produced and directed the ballet
Wahzhazhe, which vividly chronicles Osage history and culture. Telling
Osage stories through balletis ___ _choice because two of the

foremost ballet dancers of the twentieth century were Osage: sisters Maria
and Marjorie Tallchief.

Which choice completes the text with the most logical and precise word
or phrase? ’

A) an unpredictable
B) an arbitrary

C) a determined
D) a suitable
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The following text is adapted from Zora Neale Hurston’s 1921 short story
“John Redding Goes to Sea” John wants to travel far beyond the village
where he lives near his mother, Matty.

[John] had on several occasions attempted to reconcile his mother to the
notion, but found it a difficult task. Matty always took refuge in self-pity
and tears. Her son's desires were incomprehensible to her, that was all.

As used in the text, what does the phrase “reconcile his mother to” most
nearly mean?

A) Get his mother to accept
B) Get his mother to apologize for
C) Get his mother to match
D) Get his mother to reunite with

Michelene Pesantubbee, a historian and citizen of the Choctaw Nation, has
identified a dilemma inherent to research on the status of women in her
tribe during the 1600s and 1700s: the primary sources from that era, travel
narratives and other accounts by male European colonizers, underestimate
the degree of power conferred on Choctaw women by their traditional roles
in political, civic, and ceremonial life. Pesantubbee argues that the Choctaw
oral tradition and findings from archaeological sites in the tribe’s homeland
supplement the written record by providing crucial insights into those roles.

Which choice best describes the overall structure of the text?

A) It details the shortcomings of certain historical sources, then argues
that research should avoid those sources altogether.

B) It describes a problem that arises in research on a particular topic, then
sketches a historian’s approach to addressing that problem.

C) It lists the advantages ofa particular research method, then
acknowledges a historian’s criticism of that method.

D) It characterizes a particular topic as especially challenging to research,
then suggests a related topic for historians to pursue instead.

The following text is from Srimati Svarna Kumari Devi’s 1894 novel The
Fatal Garland (translated by A. Christina Albers in 1910). Shakti is walking
near a riverbank that she visited frequently during her childhood.

She crossed the woods she knew so well. The trees seemed to extend
their branches like welcoming arms. They greeted her as an old friend.

Soon she reached the river-side.

Which choice best describes the function of the underlined portion in the
text as a whole?

A) It suggests that Shakti feels uncomfortable near the river. _
B) It indicates that Shakti has lost her sense of direction in the woods.
C) It emphasizes Shakti’s sense of belonging in the landscape.

D) It conveys Shakti’s appreciation for hér long-term friendships.
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The following text is adapted from Oscar Wilde’s 1897 nonfiction work
De Profundis.

People whose desire is solely for self-realisation never know where
they are going. They can’t know. In one sense of the word it is of course
necessary to know oneself: that is the first achievement of knowledge.
But to recognise that the soul of a man is unknowable, is the ultimate
achievement of wisdom. The final mystery is oneself. When one has
weighed the sun in the balance, and measured the steps of the moon,
and mapped out the seven heavens star by star, there still remains
oneself. Who can calculate the orbit of his own soul? :

Which choice best describes the function of the underlined question in the

textas a whole?

A) It cautions readers that the text’s directions for how to achieve
self-knowledge are hard to follow. v

B) It concedes that the definition of self-knowledge advance_d in the text is
unpopular,

C) It reinforces the text’s skepticism about the possibility of truly achieving
self-knowledge.

D) It speculates that some readers will share the doubts expressed in the
text about the value of self-knowledge.

]

" In many agricultural environments, the banks of streams are kept forested
to protect water quality, but it's been unclear what effects these forests may
have on stream biodiversity. To investigate the issue, biologist Xingli Giam
and colleagues studied an Indonesian oil palm plantation, comparing the
species richness of forested streams with that of nonforested streams. Giam
and colleagues found that species richness was significantly higher in
forested streams, a finding the researchers attribute to the role leaf litter
plays in sheltering fish from predators and providing food resources.

Which choice best states the main purpose of the text?
A) It presents a study that addresses an unresolved question about the
presence of forests along streams in agricultural environments.

B) It explains the differences between stream-protection strategies used in
oil palm plantations and stream-protection strategies used in other
kinds of agricultural environments.

C) It discusses research intended to settle a debate about how agricultural
yields can be increased without negative effects on water quality.

D) It describes findings that challenge a previously held view about how

fish that inhabit streams in agricultural environments attempt to avoid
predators.
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Text 1

Dance choreographer Alvin Ailey’s deep admiration for jazz music can
most clearly be felt in the rhythms and beats his works were set to. Ailey
collaborated with some of the greatest jazz legends, like Charles Mingus,
Charlie Parker, and perhaps his favorite, Duke Ellington. With his choice of
music, Ailey helped bring jazz to life for his audiences.

Text 2

Jazz is present throughout Ailey’s work, but it’s most visible in Ailey’s
approach to choreography. Ailey often incorporated improvisation, a
signature characteristic of jazz music, in his work. When managing his
dance company, Ailey rarely forced his dancers to an exact set of specific
moves. Instead, he encouraged his dancers to let their own skills and
experiences shape their performances, as jazz musicians do.

Based on the texts, both authors would most likely agree with which statement?
A) Audiences were mostly unfamiliar with the jazz music in Ailey’s works.
B) Ailey’s work was strongly influenced by jazz.

C) Dancers who worked with Ailey greatly appreciated his supportive
approach as a choreographer.

D) Ailey blended multiple genres of music together when choreographing
dance pieces. d

o

Text 1 :

The idea that time moves in only one direction is instinctively understood,
yet it puzzles physicists. According to the second law of thermodynamics,
at a macroscopic level some processes of heat transfer are irreversible due
to the production of entropy—after a transfer we cannot rewind time and
place molecules back exactly where they were before, just as we cannot
unbreak dropped eggs. But laws of physics at a microscopic or quantum
level hold that those processes should be reversible.

Text 2

In 2015, physicists Tiago Batalhéo et al. performed an experiment in which
they confirmed the irreversibility of thermodynamic processes at a
quantum level, producing entropy by applying a rapidly oscillating
magnetic field to a system of carbon-13 atoms in liquid chloroform. But
the experiment “does not pinpoint . , . what causes [irreversibility] at the
microscopic level,” coauthor Mauro Paternostro said. '

Based on the texts, what would the author of Text 1 most likely say about
the experiment described in Text 2? '

A) Itis consistent with the current understanding of physics at a
microscopic level but not at a macroscopic level. _

B) It provides empirical evidence that the current understanding of an
aspect of physics at a microscopic level must be incomplete,

C) It supports a claim about an isolated system of atoms in a laboratory, but
that claim should not be extrapolated to 2 general claim about the universe.

D) It would suggest an interesting direction for future research were it not
the case that two of the physicists who conducted the experiment
disagree on the significance of its findings.
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o
Text 1
Because literacy in Nahuatl script, the writing system of the Aztec Empire,
was lost after Spain invaded central Mexico in the 1500s, it is unclear
exactly how meaning was encoded in the script’s symbols. Although many
scholars had assumed that the symbols signified entire words, linguist
Alfonso Lacadena theorized in 2008 that they signified units of language

. smaller than words: individual syllables.

Text 2

The growing consensus among scholars of Nahuatl script is that many of its
symbols could signify either words or syllables, depending on syntax and
content at any given site within a text. For example, the symbol signifying
the word huipil (blouse) in some contexts could signify the syllable “pil” in
others, as in the place name “Chipiltepec” Thus, for the Aztecs, reading
required a determination of how such symbols functioned each time they
appeared in a text. .

Based on the texts, how would the author of Text 2 most likely characterize
Lacadena’s theory, as described in Text 1?

A) By praising the theory for recognizing that the script’s symbols could
‘represent entire words

B) By arguing that the theory is overly influenced by the work of earlier
scholars

C) By approving of the theory’s emphasis on how the script changed
over time

D) By cautioning that the theory overlooks certain important aspects of
how the script functioned
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While researching a topic, a student has taken the following notes:

» Annie Wu is a prominent American flutist who graduated from the New
England Conservatory.

o She has won multiple national flute competitions.

¢ She is best known for a 2011 YouTube video that has been viewed over
two million times.

« The video shows her performing Three Beats for Beatbox Flute, an
original work by composer Greg Pattillo.

+ Wu combines flute playing and beatboxing in the video.

The student wants to emphasize Wu's most well-known achievement.

Which choice most effectively uses relevant information from the notes to

accomplish this goal? , 4

A) Among her many achievements, prominent American flutist Annie Wu
graduated from the New England Conservatory and has won multiple
national flute competitions.

B) Annie Wu is best known for a 2011 YouTube video performance of Three
Beats for Beatbox Flute that has been viewed over two million times.

C) Composer Greg Pattillo’s original work Three Beats for Beatbox Flute
combines flute playing and beatboxing,

D) Annie Wu, who has won muitiple national flute competitions, has also
combined flute playing and beatboxing,
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While researching a topic, a student has taken the following notes:

» A thermal inversion is a phenomenon where a layer of atmosphere is
warmer than the layer beneath it.

« In 2022, a team of researchers studied the presence of thermal
inversions in twenty-five gas giants.

o Gas giants are planets largely composed of helium and hydrogen.

« The team found that gas giants featuring a thermal inversion were also
likely to contain heat-absorbing metals.

« One explanation for this relationship is that these metals may reside in a
planet’s upper atmosphere, where their absorbed heat causes an increase
in temperature,

The student wants to present the study’s findings to an audience already
familiar with thermal inversions. Which choice most effectively uses
relevant information from the notes to accomplish this goal?

A) Gas giants were likely to contain heat-absorbing metals when they
featured a layer af atmosphere warmer than the layer beneath it,
researchers found; this phenomenon is known as a thermal inversion,

B) The team studied thermal inversions in twenty-five gas giants, which
are largely composed of helium and hydrogen.

C) Researchers found that gas giants featuring a thermal inversion were
likely to contain heat-absorbing metals, which may reside in the
planets’ upper atmospheres.

D) Heat-absorbing metals may reside in a planet’s upper atmosphere. |
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While researching a topic, a student has taken the following notes:

+ Muckrakers were journalists who sought to expose corruption in US
institutions during the Progressive Era (1897-1920).

« 1da Tarbell was a muckraker who investigated the Standard Oil
Company.

+ She interviewed Standard Qil Company executives, oil industry workers,
and public officials.

+ She examined thousands of pages of the company’s internal
communications, including letters and financial records.

« Her book The History of the Standard Oil Company (1904) exposed the
company’s unfair business practices.

The student wants to emphasize the thoroughness of Ida Tarbell’s
investigation of the Standard Oil Company. Which choice most effectively
uses relevant information from the notes to accomplish this goal?
A) Ida Tarbell not only interviewed Standard Oil executives, oil industry
workers, and public officials but also examined thousands of pages of '
the company’s internal communications. i

B) As part of her investigation of the Standard 0il Company, muckraker
Ida Tarbell conducted interviews.

C) Published in 1904, muckraker Ida Tarbell’s book The History of the
Standard Oil Company exposed the company’s unfair business
practices. -

D) Ida Tarbell, who investigated the Standard Oil Company, was a

muckraker (a journalist who sought to expose corruption in US
institutions during the Progressive Era, 1897-1920).
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While researching a topic, a student has taken the following notes:

« Platinum is a rare and expensive metal.

. » Itis used as a catalyst for chemical reactions.

« Platinum catalysts typically require a large amount of platinum to
be effective.

« Researcher Jianbo Tang and his colleagues created a platinum catalyst
that combines platinum with liquid gallium.

« 'Their catalyst was highly effective and required only trace amounts of
platinum (0.0001% of the atoms in the mixture).

The student wants to explain an advantage of the new platinum catalyst
developed by Jianbo Tang and his colleagues. Which choice most effectively
uses relevant information from the notes to accomplish this goal?

A) Like other platinum catalysts, the new platinum catalyst requires a
particular amount of the metal to be effective.

B) While still highly effective, the new platinum catalyst requires far less of
the rare and expensive metal than do other platinum catalysts.

C) Platinum is a rare and expensive metal that is used as a catalyst for
chemical reactions; however, platinum catalysts typically require a large
amount of platinum to be effective.

D) Researcher Jianbo Tang and his colleagues created a platinum catalyst
that combines platinum, a rare and expensive metal, with liquid

gallium.

A 2017 study of sign language learners tested the role of iconicity—the
similarity of a sign to the thing it represents—in language acquisition. The
study found that the greater the iconicity of a sign, the more likely it was to
have been learned. the correlation between acquisition and
iconicity was lower than that between acquisition and another factor
studied: sign frequency.

Which choice completes the text with the most logical transition?
A) In fact,

B) In other words,

C) Granted,

D) As aresult,
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Before the 1847 introduction of the US postage stamp, the cost of postage
was usually paid by the recipient of a letter rather than the sender, and
recipients were not always able or willing to pay promptly.

collecting this fee could be slow and arduous, and heaps of unpaid-for,
undeliverable mail piled up in post offices.

Which choice completes the text with the most logical transition?
A) Regardless:

B) On the contrary,

C) Consequently,

D) For example,

The number of dark spots that a};pear on the Sun, known as sunspots, can
vary greatly. For example, there were about 180 sunspots in November
2001. there were only about 2 sunspots in December 2008.

‘Which choice completes the text with the most logical transition?
A) In other words,
B) Similarly,

C) Therefore,

D) By comparison,

It has long been thought that humans first crossed a land bridge into the
Americas approximately 13,000 years ago. -based on
radiocarbon dating of samples uncovered in Mexico, a research team
recently suggested that humans may have arrived more than 30,000 years
ago—much earlier than previously thought.

Which choice completes the text with the most logical transition?

A) As aresult,

B) Similarly,

C) However,

D) In conclusion,
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In 1959, marine biologist Dr. Albert Jones founded the Underwater
Adventure Seekers, a scuba diving that is the oldest club for
Black divers in the United States and that has helped thousands of diving
enthusiasts become certified in the field.

Which choice completes the text so that it conforms to the conventions of
Standard English?

A) club

B) club, and
C) club—
D) club,

. R . .
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Photographer Ansel Adams’s landscape portraits are iconic pieces of
American art. However, many of the of landscapes were
intended not as art but as marketing; a concessions company at Yosemite
National Park had hired Adams to take pictures of the park for restaurant
menus and brochures. *

Which choice completes the text so that it conforms to the conventions of
Standard English?

A) photographers early photo’s
B) photographers early photos
C) photographer’s early photos
D) photographer’s early photo’s
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The field of geological oceanography owes much to American

Marie Tharp, a pioneering oceanographic cartographer whose detailed
topographical maps of the ocean floor and its multiple rift valleys helped
garner acceptance for the theories of plate tectonics and continental drift.

Which choice completes the text so that it conforms to the conventions of
Standard English? '

A) geologist

B) geologist:

C) geologist;

D) geologist,

.|
In her book The Woman Warrior: Memoirs of a Girlhood Among Ghosts,
author Maxine Hong Kingston examines themes _________ childhood,
womanhood, and Chinese American identity by intertwining
autobiography and mythology.

Which choice completes the text so that it conforms to the conventions of
Standard English?

A) of—
B) of
C) of:
D) of,

Classical composer Florence Price’s 1927 move to Chicago marked a
turning point in her career. It was.there that Price premiered her First
Symphony—a piece that was praised for blending traditional Romantic
motifs with aspects of Black folk music—and ______ supportive
relationships with other Black artists.

Which choice completes the text so that it conforms to the conventions of
Standard English?

A) developing
B) developed
C) having developed
D) to develop
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A subseasonal weather forecast attempts to predict weather conditions
three to four weeksin _______ its predictions are therefore more
short-term than those of the seasonal forecast, which attempts to predict
the weather more than a month in advance.

Which choice completes the text so that it conforms to the conventions of
Standard English? .

A) advance and
B) advance

C) advance,
D) advance;

In 1881, French chemist Camille Faure redesigned the rechargeable
lead-acid battery. Faure’s design greatly increased the amount of electricity
that the original battery, which the French physicist Gaston Planté

fifteen years earlier, could hold.

Which choice completes the text so that it conforms to the conventions of
Standard English?

A) is inventing
B) will invent
C) had invented
D) invents

‘The African Games Co-production Market, one of over 180 annual
international conferences supporting video game development,

the growth of the African gaming industry by helping start-up studios in
Africa find pattners.

Which choice completes the text so that it conforms to the conventions of
Standard English? S

A) promotes

B) promote

C) are promoting
D) have promoted
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